gooooooon

gbooboooobooooboobobo 20bobobobobobobobobob
oo

<goo»>

ob2000000000=0000x 002000000

(00 200000030000)

nHooOooboooooooooooo

gbooooooooooboooboooooooooooooooooooon
ooobooobobobobobobobobobobo 20000000000
obooooooooooboooobooooboooobooooboooboooboooo
oo

0000000000000000=002000000000x (14S or S
or ... or S¢/ 100)x (Kix K2x ..x K) (0000000000000 1000
O0o0)OOOOOO0000O0100000)

SHERERE

K:good

H)000oooo

gboobooboobboobooboobboobuoobbooboobooonoo
o@oooo)booooooobooobooooouooDoooobooooooDoo
gboboboobo20b0obooboobobooobobobooooboooooooo
ooooooboo(@obo2o0b00obDos3nooon)

<goo»>

go:oogoo
OO0:00@00)IOD0O D19+D19
00 :452
ugb2000000:1.04040 800



noogboooooooooo

obd20000¢@0 8000y ooooobboooooooDeo

No o ooo o o d o o o d

oooo o g

1 OO@OO)iod D19+b19 ot ! 452

No o odog o oo |00 o d

gooo o g

Yoo (000)000 D19+D19 00 1 470.08

gbz20000000

gbooooxgo2000000

452x 1.04

470.08

470.08 DODO 200000030000

bbbbooboooooobooboboooDboo
oo20000@o0spooO)yooooobomooboomboooboooooooDo
ooooogo

No o oodg o o o o o g o

0000 oo
1 00 1 452
00(0O00)I00 D19+D19

No U oogad o d o d o o

0000 oo
1 00 1 681
00(0O00)I00 D19+D19




gboobooboboobooboobibbbbooboon 1.450000000000¢0

O0b0O0 =(@ubbooxpOo2p000ood)yx(@uboooooo)

= (452x 1.04)x 1.45
= 470.08x 1.45 000 2000000 30000

=681 UDOUOOOD 1000000

pobbooooooooooobooboobooo
OOo20000@O0s0ooO)yoooooomoboooObooobooobooooDo

0ooooox
No 00000 0O O 0 O 0 O
oo oo
1 00 1 452
00(QO00)I0D0 D19+D19

No o ooo o o d o d o d

oooo o g
1 RN 1 682

OO0(@O0O)ooOd D19+b19
goboooobooobooboooboobooo 1.4500000000000

gooon

(00DO0O0Ox002000000)@OoOoO0Oooog)

(452x 1.04)x 1.45

470.08x 1.45 00O 0O 2000000 30000

682 DODOUOLOO100000



